
29.03.2017 Cummins QuickServe Online

https://quickserve.cummins.com/qs3/portal/parts/option_detail.html?path=/qs3/parts/99/t/17.01/4955357&header=false&print=true 1/2

  

Пользователь:  ya.alekhin  |  Contact Us

Каталог деталей ­ Сведения о варианте   

Электронный каталог деталей ­ описание данного варианта

Доп.
устройство Группа Рисунок Карта Дата

4955357 17.01 null T 12­APR­06

Двигатели

4B3.9, 6B5.9, B GAS INTERNATIONAL CM556, B4.5, B4.5 CM2350 B129B, B4.5 CM2350 B147B, B4.5
RGT, B4.5S, B5.9 G, B5.9 GAS PLUS CM556, B5.9 LPG, B5.9 LPG PLUS CM556, B6.7 CM2350 B121B, B6.7
CM2350 B135B, B6.7 CM2350 B148B, B6.7 G CMOH6.0 B125, B6.7S, F3.8 CM2350 F120B, F3.8
F102, G3.9, G5.9, G5.9 CM558, ISB (CHRYSLER), ISB CM2150, ISB CM2150 E, ISB CM550, ISB
CM850, ISB/ISD4.5 CM2150 B119, ISB/ISD4.5 CM2150 SN, ISB/ISD6.7 CM2150 B120, ISB/ISD6.7 CM2150
SN, ISB/ISD6.7 CM2880 B126, ISB3.9 CM2220 B107, ISB4.5 CM2150, ISB5.9G CM2180, ISB6.7 2010 DCX
PICKUP, ISB6.7 2013 DCX CHASSIS CAB, ISB6.7 CM2150 SQ, ISB6.7 CM2250, ISB6.7 CM2350
B101, ISB6.7 CM2350 B103, ISB6.7 CM2350 B142, ISB6.7 G CM2180 B118, ISBE CM2150, ISBE
CM800, ISBE2/ISBE3 CM850, ISBE4 CM850, ISD4.5 CM2150, ISD6.7 CM2880 D101, ISF2.8 CM2220, ISF2.8
CM2220 AN, ISF2.8 CM2220 EC, ISF2.8 CM2220 ECF2, ISF2.8 CM2220 F101, ISF2.8 CM2220 F117, ISF2.8
CM2220 F126, ISF2.8 CM2220 F129, ISF2.8 CM2220 IAN, ISF3.8 CM2220, ISF3.8 CM2220 AN, ISF3.8
CM2220 F103, ISF3.8 CM2220 F110, ISF3.8 CM2220 F116, ISF3.8 CM2220 IAN, ISF3.8 CM2350 F109, ISF4.5
CM2220 F123, ISG11 CM2880 G106, ISG11 CM2880 G108, ISG12 CM2880 G107, ISG12 CM2880
G109, ISG12 G CMOH6.0 G111, QSB3.9 30 CM550, QSB3.9 CM2880 B138, QSB4.5 30 CM550, QSB4.5
CM2150 B108, QSB4.5 CM2250 B131, QSB4.5 CM2250 EC, QSB4.5 CM2350 B106, QSB4.5 CM2350
B122, QSB4.5 CM2350 B144, QSB4.5 CM850, QSB5.9 30 CM550, QSB5.9 44 CM550, QSB5.9 CM2880
B115, QSB5.9 CM2880 B139, QSB5.9 CM850, QSB6.7 CM2150 B109, QSB6.7 CM2250

Cart Ref No Part Number Part Description Required Remarks

View My Cart

    4955357 Lower Engine Gasket Set   Lower Engine Gasket Set

           

        2830409 O­Ring Seal 1  

        2830559 Oil Cooler Core Gasket 1  

        3089238 Threaded Plug 1 M22 X 1.50 X 20.1

              3089239 Threaded Plug 1  

            3089240 O­Ring Seal 1 M22

        3282266 Threaded Plug 2 M22 X 1.50 X 14.

        3287561 Sealing Washer 4 M20.

        3678603 O­Ring Seal 1  

        3678873 Threaded Plug 1 M18 X 1.5 X 19.5

            3678786 O­Ring Seal 1 M18

              3678791 Threaded Plug 1 M18 X 1.5 X 19.5

        3819900 Turbocharger Gasket 1  

          3906252 Rectangular Ring Seal 1  

www.tk
sm

as
h.

ru

https://qsservices.cummins.com/qshd/feedback.php?productid=1


29.03.2017 Cummins QuickServe Online

https://quickserve.cummins.com/qs3/portal/parts/option_detail.html?path=/qs3/parts/99/t/17.01/4955357&header=false&print=true 2/2

        3906697 Rectangular Ring Seal 1  

        3906698 Rectangular Ring Seal 1  

        3922794 O­Ring Seal 1  

        3928624 O­Ring Seal 2  

        3929457 O­Ring Seal 1  

        3930881 Threaded Plug 1  

        3932475 Turbocharger Gasket 1  

        3939258 Cover Plate Gasket 1  

        3939357 Cover Plate Gasket 1  

        3949562 Flange Gasket 1  

        3963988 Sealing Washer 4 M14.

        3963990 Sealing Washer 9 M12.

        3974127 Filter Head Gasket 1  

        3977854 Threaded Plug 1 M16 X 1.50 X 12

        4890832 Oil Seal 1  

        4891385 Sealing Washer 3  

        4895710 O­Ring Seal 1  

        4895742 Oil Cooler Core Gasket 1  

        4896409 Filter Head Gasket 1  

        4898301 Oil Suction Connection Gasket 1  

        4898372 O­Ring Seal 1  

          4897877 Oil Pan Gasket 1  

© 2017 Cummins Inc., Box 3005, Columbus, IN 47202­3005 U.S.A. 
Условия использования и отказа от ответственности  |  Рекомендуемые требования к системе 

Need Assistance? Please click on the Contact Us button in the top right corner of any page.www.tk
sm

as
h.

ru

https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

